SEVAYATAN SIKSHAN MAHAVIDYALAYA

A Govt. Sponsored College Established in 1959

(Affiliated to VU & WBUTTEPA and Recognized by the NCTE: Letter No. ERC/7-87.6(1). 3/2008/11885)
Revised Letter No. – ERC/NCTE/(APE00720)/B.Ed.(Revised Order)/2015/32494, Dtd. 30-05-2015.

P.O.: Sevayatan, Dist. - Jhargram, PIN 721514:: **WBUTTEPA Code No. 16024** E-mail: <u>ssmahavidyalaya@yahoo.co.in</u> Web: <u>www.ssmahavidyalaya.ac.in</u>

Notice Inviting E Tender

Date: 01/08/2023

E-Tender No: SSM/ 2023-24/ENIT-01

E-Tender is invited through the website: https://wbtenders.gov.in for the work detailed in the table below.(Submission of bid through online only):

Information about the work:

1	Name of the work	Procurement of Books for Sevayatan Sikshan Mahavidyalaya,
2	Estimated Value	Rs. 4,48,061.00 (Four Lakes Forty Eight Thousand and Sixty One Only)
3	Eligibility of the bidder	Bonafide, resourceful and reliable supplier/company/agency or authorized agent of the principal company having experience in similar works.
4	Cost of tender documents	1000.00
5.	Time period of completion of work	30 days for supply and installation
1.	EMD	2% OF Estimated Cost

- 6. In the event of e-tendering, intending bidder may download the tender documents from the website https://wbtenders.gov.in directly with the help of Digital Signature Certificate. EMD should be paid online as per Rule of Govt. of West Bengal.
- 2. Both Technical Bid and Financial Bid are to be submitted concurrently duly digitally signed in the website https://wbtenders.gov.in
- 3. Tender documents may be downloaded from website and submission of Technical Bid and Financial Bid will be done as per the Time Schedule stated herewith.
- 4. The FINANCIAL OFFER of the prospective tenderer will be considered only if the TECHNICAL BID of the tenderer is found qualified by the Principal, Sevayatan Sikshan Mahavidyalaya. The decision of the Principal, Sevayatan Sikshan Mahavidyalaya, Jhargram will be final and absolute in this respect.
- 5. Credentials: The agency should have work experiences in supplying of similar items of 40% of Tendered value to college /research institute /University/Laboratory/Govt. Organization/ PSU etc. Necessary documents (work order/s and completion certificate/s) should be furnished.
- 6. The quoted rate must include all taxes, any dues payable to Govt. of West Bengal, delivery charges, installation charges and other levies (if any). No Extra amount will be paid beyond the quoted amount.
- 7. Quotations should be given serially strictly according to our tender number under separate heading.
- 8. Retention money: 5% of the cost of work or supply will be retained for a maximum period of six months along with earnest money (if any).
- 9. The Quantity of the Item(s) is always subject to change and it depends upon the Requirement & Budget. Actual required Quantity will be mentioned in the Purchase Order and the selected

- bidder willbe liable to supply and install the equipment with the same quoted price and same terms & conditions.
- 10. Warranty: All the supplied equipment must carry 03 (Three) year standard onsite warranty from the date of successful Installation if it is not mentioned in the Specification (Table I).
- 11. The bidder / participating firm in the tender shall be either OEM of the product or their authorized distributor. The distributor will have to submit valid original OEM authorization certificate/s as mentioned in the specification. The original certificate/s will need to be submitted on demand.
- 12. OEM & Bidder must submit their Sales & Service Support office address in West Bengal with contactdetails.
- 13. Installation & demonstration of all the items in the College premises is mandatory.
- 14. Acceptance of the lowest tender is not obligatory and the Principal reserves the right to accept or rejectany or all the tender(s) in part or full without assigning any reason what so ever and also to split up thetendered work to more than one contractor in the interest of scheme of execution.
- 15. In case any provisions of the above-mentioned Tender are found violated, then the College Authorityshall have the right to reject the Tender/bid.
- 16. No extension of time will be allowed and no advance payment will be made at any circumstances.
- 17. The vendor must be bound to provide all kind of support during the warranty period as and when required.
- 18. No tender will be accepted after the stipulated date and time as mentioned.
- 19. Completion of installation within 30 days after receiving the work/purchase order.
- 20. Payment will be made in favour of the selected bidder after successful completion of the work and observation of necessary formalities as the authority deems fit from time to time as per Govt. norms.
- 21. Conditional bid or bid with clause or price variation will be rejected.
- 22. No mobilization /secured advance will be allowed.
- 23. Bids shall remain valid for a period not less than 120 (one hundred and twenty) days from the last date of submission of Financial Bid / Sealed Bid. If the bidder withdraws the bid during the period of bid validity the earnest money as deposited will be forfeited forthwith without assigning any reason thereof.
- 24. The Prospective Bidder shall have to supply and install all the materials in such a manner so that appropriate service level of the materials is being maintained as desired by the tendering authority. If any defect / damage is found during the period of supply / installation, the supplier shall change the same good at his own cost as per the supplied specification. On failure to do so, penal action against the supplier will be imposed by the College as deemed fit. The contractor may quote his rate considering the above aspect.
- 25. The Prospective Bidder must arrange the delivery of all the materials into the campus of Sevayatan Sikshan Mahavidyalaya, Jhargram -721514, West Bengal, at their own cost and responsibility.
- 26. The Prospective Bidder shall have to produce the required documents along with contact details for each of the materials for the purpose of claim the warranty within the period of warranty before releasing the final payment, failure which the payment will be withheld.
- 27. Earnest Money: The amount of Earnest Money Rs. should be paid online through NEFT/RTGSor Net-Banking as per Order No -> 3975 F(Y) Dated: 28th July, 2016 of Finance Department Government of West Bengal. If any contractor is exempted from payment of EMD, copy of relevant Government Order needs to be furnished.
- 28. Release of Earnest Money: Earnest money of successful bidders will be refunded after 06 (Six) months from the date of supply of the equipment, subject to observation of performance of the equipment satisfactorily and Earnest money of unsuccessful bidders will be released automatically as per the procedure as per Finance Order No. 3975-F(Y) Dated 28-7-16.

²⁹ Security Money: The earnest money of amount Rs. 2% OF ESTIMATED COST will be retained as Security Deposit money. The Security Deposit money will be refunded after 06 (Six) months from the date of supply of the equipment, subject to observation of performance of the equipment satisfactorily.

30. Date and Time Schedule:

Sl.No.	Particulars	Date & Time						
1	Date of Publishing of N.I.T. & other Documents (online)	01/08/2023 16:00 hrs						
2	Documents download/sell start date (Online)	01/08/2023 16:00 hrs						
3	Documents download/sell end date (Online)	08/08/2023 18:00 hrs						
4	Bid submission start date (Online)	01/08/2023 16:00 hrs						
5	Bid Submission closing date (Online)	14/08/2023 18:00 hrs						
6	Bid opening date for Technical Proposals (Online)	17/08/2023 10:00 hrs						
7	Date of uploading list for Technically Qualified Bidde (online)	rTo be notified later						
8	Date for opening of Financial Proposal (Online)	To be notified later						

- 31. The Principal, Sevayatan Sikshan Mahavidyalaya, reserves the right to cancel the N.I.T. due to unavoidable circumstances and no claim in this respect will be entertained.
- 32. Escalation of Price on any ground and consequent cost overrun shall not be entertained under any circumstances. Rates should be quoted accordingly.
- 33. Penalty for Late Delivery or Installation: In case of delay in delivery and installation, the competent authority has the right to deduct the amount @ 1 % of total order value and the same may be increased to maximum of @ 5 % of order value.

General guidance for e-Tendering:

Instructions / Guidelines for electronic submission of the tenders have been annexed for assisting the contractors to participate in e-Tendering.

- ❖ Registration of Contractor: Any contractor willing to take part in the process of e-Tendering will have to be enrolled & registered with the Government e-Procurement System, through logging on tohttps://wbtenders.gov.in (the web portal of Public Works Department) the contractor is to click on the link for e-Tendering site as given on the web portal.
- ❖ Digital Signature certificate (DSC): Each contractor is required to obtain a Class-II or Class-III Digital Signature Certificate (DSC) for submission of tenders from the approved

service provider of the National Informatics Centre (NIC) on payment of requisite amount. Details are available at the Web Site stated in Clause A.1. above. DSC is given as a USB e-Token. The contractor can search & download N.I.T. & Tender Document(s) electronically from computer once he logs on to the website https://wbtenders.gov.in using the Digital Signature Certificate. This is the only mode of collection of Tender Documents.

- ❖ Participation in more than one work: A prospective bidder shall be allowed to participate in the job either in the capacity of individual or as a partner of a firm. If found to have applied severally in a single job all his applications will be rejected for that job.
- ❖ Submission of Tenders: Tenders are to be submitted through online to the website stated in Clause
 - A.1. in two folders at a time for each work, one in Technical Proposal & the other is FinancialProposal before the prescribed date & time using the Digital Signature Certificate (DSC). The documents are to be uploaded virus scanned copy duly Digitally Signed. The documents will getencrypted (transformed into nonreadable formats).
- ❖ Technical Proposal: The Technical proposal should contain scanned copies of the following in twocovers (folders).

(a) Statutory Cover Containing the following documents:

- ➤ The amount of Earnest Money 2% OF ESTIMATED COST should be paid Online as per Rule of Govt. of West Bengal.
- > NIT along with Corrigendum (if any) (download & upload the same digitally signed)
- ➤ The rate will be quoted in the B.O.Q. Quoted rate will be encrypted in the B.O.Q. under FinancialBid. In case quoting any rate in Tender Form, the tender is liable to be summarily rejected.

(b) Non-statutory Cover containing the following documents:

- ➤ Duly filled up PRE-QUALIFICATION APPLICATION Form-I.
- > Duly filled up Organization details Form-II
- ➤ GSTIN Registration certificate with Latest Ack.
- > Trade Licence FY 23-24
- ➤ P.Tax and latest Challan (FY 23-24)
- PAN Card
- Voter Card
- > Aadhar Card
- Last 3 years Income Tax Return (AY 23-24, 22-23, 21-22)
- Registered Proprietorships documents (for Proprietorship Firm only) along with Power of Attorneyto be submitted along with application.
- ➤ Registered Partnership Deed (for Partnership Firm only) along with Power of Attorney to be submitted along with application.
- ➤ Registered Unemployed Engineers' Co-operative Societies/ Unemployed Labour Co.-Op. Societies are required to furnish valid Bye Law, Current Audit Report, Valid Clearance Certificatefrom A.R.C.S. for the last three years along with other relevant supporting papers.

- The prospective outside bidders or any of their constituent partner shall neither have abandoned any work nor any of their contract have been rescinded during the last 5 (five) years. Such abandonment or rescission will be considered as disqualification towards eligibility. (A declaration in this respect through self-declaration has to be furnished by the prospective bidders without which the Technical Bid shall be treated non-responsive.)
- ➤ The contractor who has been delisted or debarred by any Government Department shall not be eligible in any way. An undertaking in this respect should be given stating thereby that the Firm has not been delisted or debarred or penalized for any reasons out of work by any Government Department.
- ➤ Tax Audited Report along with Balance Sheet & Profit & Loss A/c. for the last year (year just preceding the current Financial Year will be considered as year I)
 - For Registered Proprietorship firm / Registered Partnership Firm /Registered Unemployed Engineers' Co-operative Societies and Registered Labour Co-operative Societies having credential in similar nature of job of the Estimated amount put to tender during the last 3 (three) years prior to the date of issue of this N.I.T. is to be furnished under the authority of State / Central Government, statutory bodies under State / Central Government constituted under the statute of the State / State Government
- > THE ABOVE STATED NON-STATUTORY/TECHNICAL DOCUMENTS SHOULD BEARRANGED IN THE FOLLOWING MANNER

Sl.	Category Name	Sub Category	Details	File
No.		Description		Format
A	CERTIFICATES	CERTIFICATES	GST REGISTRATION CERTIFICATE &	PDF
			ACKNOWLAGEMENT, PAN, PTAX	
			(CHALLAN 23-24), LATEST IT RECEIPT	
В	COMPANYDETAILS	COMPANY	PROPRITORSHIP FIRM (TRADE LICENCE)	
		DETAILS	PARTNERSHIP FIRM (PARTNERSHIP DEEP,	PDF
			TRADE LICENCE)	
			LTD COMPANY (INCORPORATION	
			CERTIFICATE, TRADE LICENCE)	
			SOCIETY (SOCIETY REGISTRATION COPY,	
			TRADE LICENCE)	
C	CREDENTIAL	CREDENTIAL	SIMILAR NATURE OF SINGLE WORK DONE,	PDF
			PAYMENT CERTIFICATES WITH PROPER	
			COMPLETION CERTIFICATES IN LAST FIVE	
			YEARS IN GOVERNMENT AND SEMI	
			GOVERNMENT SECTOR / CONCERN.	

Opening & evaluation of tender

- i. If any contractor is exempted from payment of EMD, copy of relevant Government Order needs to be furnished.
- ii. Cover (folder) for Statutory Documents will be opened first. If there is any deficiency in the Statutory Documents the tender may summarily be rejected.
- iii. Decrypted (transformed into readable formats) documents of the non-statutory cover will be downloaded & handed over to the Principal, Sevayatan Sikshan Mahavidyalaya,.
- iv. Summary list of technically qualified tenderers will be uploaded online.
- v. Pursuant to scrutiny & decision of the Principal, Sevayatan Sikshan Mahavidyalaya,, the summary list of eligible tenderers & the serial number of the work for which their proposal will be considered will beuploaded in the web portals.
- vi. During evaluation the Principal, Sevayatan Sikshan Mahavidyalaya, may summon of the tenderers & seekclarification / information or additional documents or original hard copy of any of the documents already submitted & if these are not produced within the stipulated time frame, their proposals will beliable for rejection.

Financial Proposal

- (a) The financial proposal should contain the following documents in one cover (folder) i.e. Bill of Quantities (BOQ). The contractor is to quote the rate (in numeric figure only) online through computerin the space marked for quoting rate in the BOQ.
- (b) Only downloaded copies of the above documents are to be uploaded virus scanned & Digitally Signedby the contractor.
- ❖ Penalty for suppression / distortion of facts: If any tenderer fails to produce the original hard copies of the documents like Completion Certificates and any other documents on demand of the Principal, Sevayatan Sikshan Mahavidyalaya, within a specified time frame or if any deviation is detected in the hardcopies from the uploaded soft copies, it may be treated as submission of false documents by the tenderer and action may be referred to the appropriate authority.
- ❖ Rejection of Bid: The Principal, Sevayatan Sikshan Mahavidyalaya,, reserves the right to accept or rejectany Bid and to cancel the Bidding processes and reject all Bids at any time prior to the award of Contract without thereby incurring any liability to the affected Bidder or Bidders or any obligation to inform the affected Bidder or Bidders of the ground for action.
- ❖ The College authority is not bound to accept the lowest rate and reserves the right to accept or reject any or all the quotation without assigning any reason whatsoever.
- ❖ The College authority will have the right for rate negotiation with the lowest bidder.
- ❖ The decision of the College authority in all respect will be final and binding upon the contractor.
- ❖ The College authority reserves the right to terminate the contract at any point of time during the contract period if the services are not found satisfactory without showing any reason thereof.

Dr. Ashis Kumar Gupta Principal Sevayatan Sikshan Mahavidyalaya

SI. No.	Title and Author	Publisher		Price	Qty		Amount
1	Educational Psychology / Anita Woolfolk and Preeti Kapur	Pearson	₹	750.00	2	₹	1,500.00
2	Educational Psychology / Edward Lee Thordike	Biblio Life	₹	1,848.00	2	₹	3,696.00
3	Educational Psychology / John W. Santrock	Tata McGraw Hill	₹	999.00	2	₹	1,998.00
4	Psychology of Human Behaviour / Nancy Lui	Tata McGraw Hill	₹	1,923.00	2	₹	3,846.00
5	Educational Psychology Developing Learners / Onnrod	Pearson	₹	672.00	2	₹	1,344.00
6	Elements of Educational Psychology / H. R. Bhatia	R. Lal Publication	₹	475.00	2	₹	950.00
7	Fundamentals Educational Psychology / R.A. Sharma	Do	₹	400.00	2	₹	800.00
8	Advanced Educational Psychology / K.P. Singh, Trilok Chandra A.J.S Parihar	Do	₹	400.00	2	₹	800.00
9	Advanced Educational Psychology / A.B. Bhatnagar, Anurag Bhatnagar	Do	₹	400.00	2	₹	800.00
10	Introducing Psychology / Stephen M. Kosslyn, Robin S. Rosenberg	Pearson	₹	18,292.00	2	₹	36,584.00
11	Psychology Sixth Edition / Ciccareclli & Misra	Pearson	₹	712.00	2	₹	1,424.00
	Understanding Psychology / Professor Emeritus Morris, Charles G. and Albert A. Maisto	Pearson	₹	3,577.00	2	₹	7,154.00
13	Abnormal Psychology / Jafar Mahmud	APH	₹	700.00	2	₹	1,400.00
171	Advanced Educational Technology / H. Kkhandai	АРН	₹	1,195.00	2	₹	2,390.00
15 1	Educational Psychology / N. Vekateswarlu	АРН	₹	695.00	2	₹	1,390.00
16	Educational Psychology / R. K. Parhi	APH	₹	795.00	2	₹	1,590.00
17	Educational Psychology / A. S. Jha	APH	₹	795.00	2	₹	1,590.00
18	Educational Psychology of Learning and Human Development . M. Selvam	· APH	₹	695.00	2	₹	1,390.00
19	Educational Research / Niradhar De	APH	₹	1,495.00	2	₹	2,990.00
20	Educational Research / S. R, Pandya	APH	₹	1,495.00	2	₹	2,990.00
	Fundamentals of Psychology / Pragya Rashmi	Press Medical Publisher	₹	899.00	2	₹	1,798.00
	Carried Over		To	tal	42	₹	78,424.00

SI. No.	Title and Author	Publisher		Price	Qty		Amount
	Brought Forward		1		42	₹	78,424.0
22	Psychologuy : A Complete Introduction / Sandi Mann		₹	978.00	2	₹	1,956.0
23	Positive Psychology: The Scientific and Practical Explorations of Human Strength / Snyder	Pearson	₹	963.00	2	₹	1,926.0
24	Social Psychology / Elliot Aronson, Timothy D. Wilson, Robin M. Akert	Pearson	₹	1,478.00	2	₹	2,956.0
25	Philosophy of Education / S. S. Chandra	Atlantic	₹	846.00	2	₹	1,692.00
26	Philosophy of Education / Net Noddings		₹	1,995.00	2	₹	3,990.00
27	Psychology Aspect of Education / Geetika	Neelkamal	₹	1,195.00	2	₹	2,390.00
28	Encyclopedia of Psychology (set of 3 vols) Prof. E. G. Parameswaran, Dr. C. Beena	Neelkamal	₹	4,500.00	2	₹	9,000.00
29	Democracy and Education : An Introduction to the Philosophy of Education John Dewey	Pearson	₹	2,550.00	2	₹	5,100.00
30	Philosophy of Education / Louis Mazzullo	Pearson	₹	1,522.00	2	₹	3,044.00
31	Studies in Philosophy ? K. C. Bhattacharyy	Pearson	₹	1,480.00	2	₹	2,960.00
32	Consciousness in Indian Philosophy / Sthaneshwar Timalsina	Pearson	₹	3,089.00	2	₹	6,178.00
33	Philosophy & Sociological Foundations of Education (2 vols) / Dr. Mukul Kumar Sharma	Neelkamal	₹	995.00	2	₹	1,990.00
34	The Sociology of Educational Ideas / Julia Evetts	Pearson	₹	2,512.00	2	₹	5,024.00
47	Sociology of Education in India / Geetha B. Nambissan and S. Srinivasa Rao	Oxford	₹	850.00	2	₹	1,700.00
3/2	Sociology of Education in India / N. Jayaram	Oxford	₹	995.00	2	₹	1,990.00
2.7	Frontiers in Sociology of Education / Maureen T. Hallinan	Springer	₹	13,215.00	2	₹	26,430.00
	Leaders in Sociology of Education / Alan R. Sadovnik, Ryan W. Coughlan .	Sense Publisher	₹	11,696.00	2	₹	23,392.00
30	Foundation of Sociology of Education / Yogendra K. Sharma		₹	849.00	2	₹	1,698.00
	Carried Over		To	tal	78	₹	1,81,840.00

Sl. No.		Publisher		Price	Qty	7	Amount
	Brought Forward				78	₹	1,81,840.00
40	Teaching with Sociological Imagination in Higher and Further Education / Christopher R. Matthews, Ursula Edgington	Springer	₹	7,433.00	2	₹	14,866.00
41	Life Chances, Education and Social Movements / Lyle Munro	•	₹	12,213.00	2	₹	24,426.00
42	Democratic Socialism and Education : New Perspectives on Policy and Practice / Neil Hopkins	Springer	₹	4,129.00	2	₹	8,258.00
43	Integrating Technology into the Curriculum 2nd Edition / Kathleen N. Kopp.	· Shell Education	₹	2,158.00	2	₹	4,316.00
44	New Digital Technology in Education / Wan Ng	Springer	₹	10,856.00	2	₹	21,712.00
45	Educational Technology Beyond Content / Brad Hokanson, Gregory Clinton, Andrew A. Tawfik	Springer	₹	11,563.00	2	₹	23,126.00
46	Self-Efficacy in Instructional Technology Contents / Churles B. Hogdes	Springer	₹	8,259.00	2	₹	16,518.00
47	Power / Bertrand Russell	Routledge	₹	427.00	2	₹	854.00
/ X	History of Western Philosophy / Bertrand Russell	Routledge	₹	908.00	2	₹	1,816.00
49	On Education : Specially in Early Childhood / Bertrand Russell	Aakar Books	₹	436.00	2	₹	872.00
50	Pedagogo of the Oppressed / Paulo Freire	Penguin	₹	398.00	2	₹	796.00
	Educational Psychology of Paulo Freire / Sangeeta Pandey	Bluerose Publisher	₹	940.00	2	₹	1,880.00
52	On Education / Bertrand Russell	Routledge	₹	1,605.00	2	₹	3,210.00
53	Indian Philosophy Vol 1 2nd Edition / S. Radhakrishnan	Oxford	₹	441.00	2	₹	882.00
54	Essentials of Educational Technology / J. C. Agarwal	Vikash Publisher	₹	321.00	2	₹	642.00
55	Research Methods in Education / Ivan	Routledge	₹	1,095.00	2	₹	2,190.00
	Carried Over		To	tal	110	₹	3,08,204.00

Sl. No.		Publisher		Price	Qty	1	Amount
	Brought Forward				110) ₹	3,08,204.0
56	Handbook of Research on Learning and Instruction / Richard E. Mayer, Patricia A. Alexander	Routledge	₹	10,984.00) 2	₹	21,968.0
57	Educational Research : Quantitative, Qualitative and Mixed Approches / Robert Burke Johnson	Sage	₹	13,429.00	2	₹	26,858.0
58	Research Methods in Education / Cohen	Routledge	₹	1,095.00) 2	₹	2,190.0
59	Postpositivism and Educational Research / D. C. Phillips, Nicholas C. Burbules	Rownman & Littlefield	₹	4,604.00		₹	
60	Educational Research : Planning, Conducting and Evaluating Quantitative and Qualitative Research / John W. Creswell		₹	1,999.00	2	₹	3,998.00
	Educational Research : Ethics, Social Justice and Funding Dynamics / Paul Smeyers, Marc Depnepe	Springer	₹	9,085.00	2	₹	18,170.00
62	Research Design : Quantitative, Qualitative Mixed Methods, Arts Based and Community Based ParticipatoryResearch Approaches / Patricia Leavy	The Guilford Press	₹	3,605.00	2	₹	7,210.00
63	Educational Research and Statistics / Tommy Becker	Kaufman Press	₹	8,668.00	2	₹	17,336.00
0-1	Understanding Education and Educational Research	Cambridge	₹	7,340.00	2	₹	14,680.00
65	Educational Research: Planning, Couducting and Evaluating Quantitative and Qualitative Research / John W. Creswell	Pearson	₹	1,499.00	2	₹	2,998.00
	Educational Research with Our Youngest / Eva Johnson, E. Jayne White	Springer	₹	9,911.00	2	₹	19,822.00
	Feacher Education / Mohan Radha	PHI	₹	395.00	2	₹	790.00
00	Feacher Education : Principles, Theories and Practices / Shasi Prava Sharma	РНІ	₹	450.00	2	₹	900.00
09 /	Fundamentals of Educational Psychology 7 R. A. Sharma		₹	400.00	2	₹	800.00
	History of Western Philosophy / Bartrand Russell	Routledge	₹	908.00	2	₹	1,816.00
	Carried Over		Tot	al	140	₹	4,56,948.00

Sl. No		Publisher		Price	Qty		Amount		
-	Brought Forward					₹	4,56,948.0		
71	Educational Research : A Guide to the	Lawrence	₹	7,937.00	2	₹			
	Process / Norman E. Wallen	Erabaum	L'	7,937.00	4		15,874.0		
72	Teacher Education / Sheela Mangla	Radha Pub	₹	1,150.00	2	₹	2,300.0		
73	Issues and Challenges of Teacher .	EBH	₹	1 000 00	1		0.000.0		
	Education / L. Ali, A. Saikia	Publishers	1	1,000.00	2	₹	2,000.0		
74	Teaching Infants, Toddlars and Twos with	Gryphon	-	24/200		_			
	special Needs / Clarissa Willis	House	₹	3,162.00	-2	₹	6,324.0		
75	Assistive Technology in Special Education	D=-11-1	1	0.400.00					
	/ Joan L. Green	Routledge	₹	3,429.00	2	₹	6,858.0		
76	Handbook of Special Education / James								
/0	M. Kauffman, Daniel P. Hallahan	Routledge	₹	6,346.00	2	₹	12,692.0		
77	The Special Education Handbook /		-						
"	Michael Farrell	Routledge	₹	3,294.00	2	₹	6,588.0		
78	Learning and Teaching / S. K. Mangal and		+-			700000			
10	Shubhra Mangal	PHI	₹	625.00	2	₹	1,250.0		
		Twentyfirst	-						
79	Learning and Teaching / Dr. M Sachdeva,	Century	₹	415.00	2	4	020.0		
	Dr. K. K. Sharma, Dr. Supninder Kaur	Publication	1	415.00	4	₹	830.00		
80	Educational Technology / Vijay Agarwal	Sports Pub	₹	700.00	2	*	1 100 00		
81	Research Methodology / Ranjit Kumar	1	-		2	₹	1,400.00		
	Methodology of Educational Research /	Sage	₹	3,749.00	2	₹	7,498.00		
	Lokesh Koul	Vikash Pub	₹	410.00	2	₹	820.00		
-	Child Psychopathology / Eric J.,	C 116- 1	-						
A 2 1		Guilford	₹	₹	₹	8,501.00	2	₹	17,002.00
	MashRussell A. Barkley	Press					17,002.00		
	Research Methodology and Biostatistics/	Elsevier			2				
	Suresh Sharma		₹	740.00		₹	1,480.00		
A3 1	A Methodology for Social Research /	Rawat			2				
	Sjoberg		₹	275.00		₹	550.00		
86	Measurement, Evaluation and Assessment	PHI			2	*	1 200 00		
ji	n Education / Mohan Radha	* * * * *	₹	695.00	4	₹	1,390.00		
1	Measurement and Evaluation in								
87	Psychology and Education / Dr. Bipin	Shri Vinod	₹	395.00	2	₹	790.00		
1	Asthana	Pustak Mandi							
88 I	Educational Technology / Vijay Agarwal	Sports Pub	₹	700.00	2	₹	1,400.00		
	Measurement and Assessment in				-	2	1,100.00		
89 H	Education / R. Reynolds Cecil, B.	Pearson	₹	480.00	2	₹	060.00		
	ivingston Ronald		•	100.00	-	`	960.00		
-	Carried Over		Tot	21	-		÷ 44.0=+.4=		
			101			₹	5,44,954.00		

SI. No.	Title and Author	Publisher	T	Price	Qty	Г	Amount
	Brought Forward		1		2.9	₹	5,44,954.0
90	measurement and Evaluation in Psychology and Education / Puvvada George, Raja Kumar	APH Publishing	2	795.00	2	₹	1,590.00
91	Contemporary India and Education / Ms. Gurpreet Kaur		₹	600.00	2	₹	1,200.00
	Contemporary India and Education / M. S. Sachdeva, K. K. Sharma, Chanchal Kumar	Twentyfirst Century Publication	₹	550.00	2	₹	1,100.00
93	contemporary India and Education / Suresh Kumar Bhatnagar,, R. A. Mittal, Sanjay Kumar	Anu Books	₹	635.00	2	₹	1,270.00
	Assessment for Learning / Paul Black Chris Harrison, Clara Lee	Open University Press	₹	3,278.00	2	₹	6,556.00
	Assessment for Learning / S. K. Mangal, Shubhra Mangal	PHI	₹	313.00	2	₹	626.00
1117	Assessment for Learning / A. B. Bhatnagar, Anurag Bhatnagar	R. Lal	₹	400.00	2	₹	800.00
	Assessment of Learning / Rajesh Makol, Lalita Makol	Rajesh Makol	₹	320.00	2	₹	640.00
	Assessment for Learning / Inder Dev Singh Nandra	Twentyfirst Century Publication	₹	320.00	2	₹	640.00
444	Assessment for Learning / Dr. S. K. Mangal	Tondon Publication	₹	350.00	2	₹	700.00
				Gross Tota	TOTAL TO ARREST	₹	5,60,076.00
		Less l	Disc	ount 20% (-) ₹	₹	1,12,015.20

Net Total ₹ 4,48,060.80